VIC OR CONFIDENTIAL

THIS DOCUMENT AND THE DATA DISCLOSED

HEREIN OR HEREWITH IS NOT TO BE REPRODUCED.

USED, OR DISCLOSED IN WHOLE OR IN PART
TO ANYONE WITHOUT PERMISSION OF VICOR CORP.

CONFIGURATION G’

SINGLE OUTPUT
WITH LUGMATE

INCHES
MM
3.62
92
14 135 26
T 289 | 343 TV
Q)
O J:Q @e00® ?
® © o
©\0) e e 0 O
° B @ © \
439
— O O
M5
3.996 °C & B ©

197 3.228
5 82

R
SRR 78
aoneen 90
[ [T \ i

@IEIII

TOLERANCES. XX 292 HXX_ 010

MM 5 MM 25

5 o ‘" oococoo0oo0o0000 o
cococoooo0000 .
o O
/) @ ®

REV. DESCRIPTION DATE APPROVED
1 |RELEASED PER E0430434 PEI| 09/20/04 FN
2 |REVSD PER E0530903 AK| 07/19/05 FN

#10-32 STUD

FITS 2 LUGS MIN
(VICOR P/N 23520)
TORQUE TO 16 in. Ibs.
2 PLACES

MOUNT (4) PL USING

#8 FLAT HEAD SCREW
(M4 FLAT HEAD SCREW)
TORQUE TO 12 in. lbs.

DRAWN BY [ bate
4 KUMAR | 6/10/02
UNLESS OTHERWISE SPECFIED

Mm. VIC OFR

DIMENSIONS ARE \N INCHE:
RANCES

JS\&CETGNS DEE\MALS ANGLES OUTL[NE DRA W[NG
e Rigs T VIPAC ARRAY CONFIG 'G’

THIRD ANGLE PROJECTION SIZE  |FSCM NO.

@—=7

67431 | 25335

REV

2

DO NOT _SCALE DRAWING SCALE il

[ [ sieeT 1 oF 2




VIC OR CONFIDENTIAL REV. DESCRIPTION DATE APPROVED

THIS DOCUMENT AND THE DATA DISCLOSED

HEREIN OR HEREWITH IS NOT TO BE REPRODUCED, / / SEE SHEET 1
UseD, o DscLasen W wHOLE on AT CONFIGURATION G
SINGLE OUTPUT
WITH PLUGMATE
INCHES
MM
3.62
92
| 104 154
™ 264 391 31
7.8
o . L o
®© 0000606000 8
— 0006060060006 ¥
PO e e 6 O F
(@] (@]
439 2 ©
ms
O O
(470, o ks s o
9.3 399 e o .
1015
107 s veeseesees o MOUNT (4) PL USING
7 0000000000 . /ﬁ8FLATHEADSCREW
o O (M4 FLAT HEAD SCREW)
>f>L @ v °JG§5 TORQUE TO 12 in. lbs
197 3.228
5 82

<:>E @EE@@E@@ 81
@]\ e e oYe)] 506
[ [T [ i

20 f

TOLERANCES M— = = EAIAIANNENEL e

DRAWN BY [ bate
4 KUMAR | 6/10/02 Imm» VIC O
UNLESS OTHERWISE SPECFIED

DIMENSIONS ARE \N INCHE:

JFEJ\&CETR\SEEE DE[\MALS ANGLES OUTLINE DRAWING
e Rigs T VIPAC ARRAY CONFIG 'G’
THIRD ANGLE PROJECTION SIZE  |FSCM NO. WG NO REV
&——1 25335 2

D0 NOT SCALE DRAWNG _ |SCALE 1| [ sHEET 2 oF 2




